YHa =d (QUESTION BANK) NSQF
HH3(Class) : AT (10TH)

33(Trade) : 931931 (Agriculture)
(feSus mige @8 fefenwrggmiiS8l)  (For Differently abled students)

PART A
Multiple-Choice Question (MCQ) (1-30) (BT TR Y5 €39)
1 fiod@ It geI?

(a) Uret €T (b) FUS II&T

(c) ¥re &Qer (d) GuIa3 A

2) figw w3 T=8= w& I AN fige T dar fad far = odier I
(a)Iar (b) B
(c) ©= (d) GuIas A9

3) 3yar fAoe & =33 fag it A<t 3 2
(a)urst S U3 96 B (b) ¥ Urel & =33 B
(c)eR (d) BUIa3 A

L) fezer figd@ § d9 &t fagr Aer &2
(a)3uar fioret (b) wrr frigret
(c) T fHgrar (d) 3=t &I

5) &ute’ 3 df FT I?
(a)WET9 U ()= © U

(c)S= (d)er &t

6) TEt I3 T UL T &HTH?

(a) St SOt (b) II& gt
(c)=rg (d)QuIT3 7S
7) aOleT v Tgdidds fae a3 Aer 32

(a)fSHewOg 3 (b)Tes & T wOg 3



(c)fgAH e wOg 3 (d)8UIa3 A9

(8)5Cls oHE 3 &t I I?
(a)IAfeed fotizgds (b)He fefomrs fotizas
(c)AfSOIx forisds (d)QUIT3 A9
(9)HST T dl 89 I&?
(a)g<t ysus (b)fi{S T 3
(o)t & it (d)uUda3 AT

(10)dtic dcag I dt I I?
(a)oTteT F IIEH (b)alter & IIEH
(c)= (d)QUSS3 A

(1)wEI39 F8H Ja1 e faodt aast U@ ygrfes ge 9&7?
(a)=arE (b)fHaT
(c)wrs (d)QuSaz A

(12) SUAF AUInT & =33 fag i3t A<t I
(a)uret T B8 (b) FUIWT II& L
(c)e= (d)Jer &t

(13) en® fedat gas € Yfafanr & &t fagr aer 31

(a)TTd SIS (b)uret 2=
(c) U II&T (d)QU3a3 A9
(14) gmet 3 &t I I
(a)SHS &S II& (b)dtearma
(c)8F s (d)feg A3

(15) 1 & WS 3 W' TE<3™ WEH'S HEHMT § T T J96 § At faar Aer 37
(a)fiiTrer (b)EIrr==t
(c)e= ()3t &t



(16) ISt fHao 3 &t &t f3wrg sit3T Aer Ji
(a)nig'g (b)AHA
(c)Tear (d)Gu3a3 A |

(17) T Igae Fdt I J|

(2)S8F AHS (b)T=EMT
(c)urst (d)fHgrgt|
(18) Beags 3 dt = JI
(a)onr e § O feg 3 97 e Qe (b)urst 2er
(c) AU II& (d)JE &t

(19) y33 3t I= JI

(a)Tifend (b)fausT

(c)e=R (d)Ier &
(20) Feast ¥33 faaR faaz Ia|

(a)3at Tfgn (b)TH

(c)gant (d)A3|

(21) fegs T fagz dAug I{ﬂ_:I'rB")F Yad (communication process cycle) f€g Fo9 T 33
(element) &It &7

(a) 958 (b) YU II& TBT
(c) SAE T3 (d) At

(22). 3 &H 3 <1 B wIH S 37 IF Ho'g T fagz 39T eg3q?
(a) &-7 (b) UFeT

(c) fs8m8ea (d) &1

(23) I &3 T faazm vifua Ao &t fia Geags
(a) wH=ETI (b) »ug
OESEY) (d) 7S



(24) 3HI fo I Tt At 996 SEl fagdt dim eg3e I?
(a) Ctrl+x (b) Ctrl+c

(c) Ctrl+z (d) Ctrl+y

(25). Hfua Aigg B8 A faad reet & <93 394t grdtel &7
(a) oY mEE (b) AUIS
OEERE] (d) HAfSS

(26). wH 81-11% €t =93 fa@ Jge Ia?
(a) ACSH B (b) SH3=H W3 TEE & AY A6 Bl |
(c) Imis-cE R9 i R &% 918 9o | (d) IR & &

(27). fegst &9 faga f&a AargaHa () fegd T yEree &?
(a) s JEfg3 a9 I8 Ba=" (b) whe T Fugd Serel JyEr
() BIF3T YAATEE (d) wrUE et S wHrgE

(28). f6a TEls § UAe J9% BEt Jot e mracdce i 79 faodt ffa & sa3 it At I

(a) Ctrl +c (b) Ctrl + p
(c)Ctrl+v (d) Ctrl +x

(29). St ger I A9 IH far fSTEH § 100% T9H &3 7 3 g & udar frs 3 fde 37
(a) fog S Faer I (b) BT SH ST&" ST o9 AaT" I

(c) o fomirer I19H I Aeer J| (d) 3T Ha= I AaE J|

(30). €37 © I8 AIT* T faga ffa sfenmm@=wiar AI3 (renewable source) 33J?

(a) HIH GI (b) Sa7
(c) 3T (d) Ye35



€39 (Answers) Multiple-Choice Question (MCQ) (1-30)

Q1 | (a) Ut e Q9 Q17 | (a)BFANS | Q25 | (b) AOIS
(d)Qu3a3 A9
Q2 | (b) 5 Q10 | (c) ster @ JamH | Q18 | (a)o Ue I | Q26 | (b) TAI=RA WS
gn feg ad gin UG SHE AT
eegEl ZE |
Q3 | (ausEt & =93 | Qi X Q19 | (c)= Q27 | (b) Wit T Hugd S=&t
9 Bt (d)Buda3z A9 .
Q4 | (c) gora o= Q12 | (b)AuSMg 95 | Q20 | (d)A Q28 | (c) Ctrl+v
B
Q5 | (a)wEg Ue Q13 | (a)T=d FI&T Q21 | (d) A Q29 | (¢) feg fmerIaH I
o I
Q6 | (d)guda3 A9 Q14 | (a)eAs frddt a9 | Q22 | (a) 8-1% Q30 | (a) HIHI GIH"
Q7 Q15 | (b)SIArset Q23 | () TS
(d)QU3a3 A9
Q8 Q16 Q24 | (b) Ctrl+c
(d)BuIa3 A g (d)8uIa3 A9




PART B

Match the following / fH&S a3 | {(eEFT B Yns €39}
TBHA IBHB
1 fAorst (A) 9T g% a3 Ut 737 feg uger
2 3yar gt (B) &EMr, afagr
3 fazam (C) u3T g uet wraT
4  fAget T AI3 (D) @I figrst
Q‘:_:'H (Answers):-
(1 [(© (2 [(A) [3 [ (D) (4 [(B)
IBHA IBHB
5 T3t T aete (A) ¥8% W
6 ASSt ¥ aeie (B) g
7 A®ST &Els (0) 3TEH
8 &ulat € JxEH (D) EeTHR
Q‘:_:'H (Answers):-
5 [(B) 6 [(O) (7 1(A) (8 [ (D)
IBHA IBHB
9 die I® (A) TIT Jar
10 S®A Jar (B) &% IdT
11 faner afgg (C) ufsnr €3 g3 Jar
12 iyt Afgg (D) tea™id
@‘:_:'H (Answers):-
19 [ (D) [ 10 [ (E) [11 [ (B) [12 | (A)
TBHA ITBHB
13 g=TEt (A) TIATIET

14 U839 ®&t fHIg =T Jar
15 Jr3fsar

(B) ABIIT-HTIT, HTIT-HET

(C) eA® fedal IIaT

16 ¥ IYTET =T AHT (D) &
9"33 (Answers):-
113 | Q) |14 | (D) 115 | (A) | 16 | (B)




TBHA TBHB

17 Tearer (A) TE 8=

18 Y™ n'% (B) 39T

19 First Aid (C) ug 13

20 FEIIT Y3 (D) HE® AIfEsT

Q"B'H (Answers):-
(17 [ (4) [18 [ () [19 [ (D) [20 [ (B)

IBHA IBHB

21 Ctrl+c (A) UAC

22 Ctrl+p (B) anft

23 Ctrl+v Q) fije

24 Ctrl+x (D) I

25 Ctrl+z (E)I38

Q‘:_:'H (Answers):-
121 | (B) |22 | (0) 123 | (A) |24 | (D) | 25 | (E)
IBHA IBH B

26 Aec g (A) H=EIF

27 IIS NI (B) g=rat /9 gt
28 o (KEYS) (C) u=Iywrfic

29 Hog (D) CPU

30 PPT (E) MS WarAs
Q‘:_:Et' (Answers):-

26 | (E) |27 | (D) | 28 | (A) |29 | (B) 130 | (0)




PART C

Fill in the blanks / ¥3&! &<t 33 {(BEISTTB YA €39}

—_

W o0 N O o F w n

10

Sy el g yrel------- S e € 7Y &2 f391eT J(@Ue-3ue,gaa)

ared § ufasT Ut u3 feg Barge 3 -------- gME IIrgEr gdiTT J1(3I3, © HIIS 5m™iT)
TR I} T Uret 83T R BargE § ----- FIe I |(fromst, Audn)
e fHgo sSae 3-—---—---—-- gmie fHgre i3t At 3@ HIS §™IE,393)

STeT § HIG B8----2If3r Aer I (Geleard, @8leha)

gg-----g3 T ¥l I (T AEE)

HIfIT1 e & ----- TE =33t Al I (IIEH,QuH)

AEAM @ g9 feg -------- T8t It Tt Al 9 (WSt , Ul)

----------- U3 28 Jdl ens Raet gas & yfadmr J1 (vemd,figs)

Aeg Hgele &9 fan AgHr & Hat =g A< 31 87 & SH3------- izt 3 | (frer, i)
STt T g & @93------- e N3 Al I (Afdar,dtesHe)

HIdlle &g Ag=hr & feadt--------- Yard &% Jet J1 (fFs,eR)

dicehd € BES §--------- 9T AR fims &% g gdie J1 (Rrm3wms, Aes)

——————— g uegE I A Hedt 233 3 ami Hiowr JeT J1 (I HE)

ot @ Guarge W3 &dftwr 37a § uret A oigr I------- <Al (TI.53)

FOS o -------- Y33 & GTgde J| (FEIIHASES H3I)

g% T HY 3 YSTHE WH 241 J| (Y= / Ho9)

Hod dag © wWi3H uz™ J| (A9 / disgq)

€3 T8 & UAc 5396 B4 Hacdc e ©f @393 a3 A<l JI( Ctrl + P/ Ctrl + V)
HER Susds JI (feade / wr@ede)

S-g593 i fosue Guags J| (feasdemrgede )

farTds & fic ads 58 Hdcde i T @33 A3t Al JI( Ctrl + V /Ctrl + P)
nH WH WHes s T Vﬂaﬂéﬂﬁg?al (-xlIsx /.jpg)

W%WW"@‘C’E"@EE’F Wﬂﬁ@?a | (.xIsx/.pptx)
3973 wiegdl #I3t I 7 3% I 96 BE JfI3 It | (A=-YIT/A=-IBUGT )

AJ AH YSUS AS 3 YSTHE covveeeennennnnnns IS 7Y e J| (A= YEus /Iew-Ha3 )



Q"':ET (Answers):-

Ql | Juar-zuar 9 | & 17 | ferd3ws 25 | fesye
Q2 | 393 10 | gt 18 | g7 26 | Ctrl+P
Q3 | figmd 11 | feprst 19 |9 27 | xisx
Q4 | 3393 12 | &% 20 | guast 28 | .pptx
Q5 | &¥s 13 | =gt 21 | Fgg 29 | meyeE
Q6 | sEtEaHA 14 | fawrer 22 | dizga 30 | 3=wHaEs
Q7 | ot 15 | Ofdar 23 | Ctrl+V
Q8 | JF=E™ 16 | f3& 24 | famye
PART D
At /IB3 {True or False} {(TEEST TV YA €39}

1) uer fHoe ©vrgr ursl ©F §93 SiSt 7 Aot JI(Adt /91%3)

2) eI fiod wofsa figd & 3dter I (A /983)

3) uret BarGe & Yfadhr § fHodr &dt afde| (wdt /am83)

4) =31 T U&S 893 feg 36 3 393 gmiE fHoE &0t I3 grdiel| (At /IB3)
5) HIE guH oH I3 T a9is I (A /IB3I)

6) THE USd AS® auls ©f faad I (A /3E3)

7) JE @I 36 &dl A3 A AaR | (Al /IB3I)

8) weod Ufent § geBe & Yfadhr § AfFa v I | (A /3183)

9) cand T =33 dIF HIS B &St At JI(AG /I1B3I)

10) faHdh € UeE a9 3 gmie It Ted T fggeaml dger gdeT JI(At /IS3)
11) AUES fog fanrst & & J|(AIt /aB3)

12) Sicerd & 293 I9C AR AG J8 AeTel 93T < A3 &t (At /3s3)
13) TEd U3 9 Udt ons fddt ags o Yfafawr J1 (Adt /363)

14) T3 TUE 596 TH HAE &It JI(AS /IBI)

15) 334t 3 gmiE fimer A8 A9 ©F 33 &dJt (Al /I83)




16) =91 & TIAES I W3 THS WEAT It JI(AI /IBI)

17) S S9€ AR HIfthr Gumy & 293 & S| (Adt /3s3)

18) dUAC HE STl BY I3 T TG WGHD Jot J| (A /IB3)

19) ¥J'S WY IHG & YIS 596 BE o I6 | (A /I183)

20) IfJe doe § g= faar A JI(At /363)

21) W A MAES TES T xisx WaASHS Jer J | (A /3183)

22) W WA =g ynifee ofes T .pp WaAdHs g 3 | (Adt /3183)

23) AT'9 3 3= WA 9 Ji5g3 93T | (A /9183)

24) A3 Ko d3=x 3 Agd! [Far & | (At /3183)

25) At Art Yy 7Y 3 yseard! Iem-ya3 3adtat i[9 g J1 (At /9183)

26) fefenrgd 38 frasHe Fies A Agat JI(Adt /3183)

27) 3 fHI3HE 4o'x 8T &8 T4 Iem WTge RO Jet & Hee &df HST | (AT /3163)
28) A<-UJ= IT3 ieIH HIS I 1 IT% O 596 B JfI3 a9t I (A /9183)

29) AR-JriArd T3 B G Ie I6 1 B D 831§ YT 36 B8 IS HY I I | (A /3153)
30) forrs gErdt Horg T e fdar J| (A /3183)

Q‘:_-.CH (Answers):-

Q1 | 7ot 9 | \It 17 | I3 25 | gt
Q2 | Fat 10 | At 18 | g3 26 | g
Q3 | I3 11 | Aagt 19 |73t 27 | 1S3
Q4 | J1B3 12 | 9183 20 | ®t 28 | A<t
Q5 |am3 13 | w7t 21 | 7t 29 | 7ht
Q6 | At 14 | gr&3 22 | J1&3 30 | g1I&3
Q7 | I=3 15 | 983 23 | At

Q8 | Fat 16 | Aat 24 | B3




PART E
yns T €39 f&a 7 € wfter & &3 7 {35 wiat T8 yas €39)

1. fAgd@ Iats=ed?

2. 3y fige 3 st g2 I?

3. wigfsd figs 3 &f g 37

L. fHod @ Goz-f993 A93 I57

5. 93 figd 3t = I7

6. aYer 3 df FE J?

7. AT oSl @ H ©A

8. TH IIT BTG T EFHTA?

9. Jeand 3o ITI?

10. &TI6 © Jd @ 3'F TH?

11. SeeHE 3 off IE I?

12. Ae-fefgmrfsa fseisae € 38 © ofee €/

13. SarE Shor It B frdhar @ I ©R7

1. SeaHET T TASHS J98 AN TI3MI AT T8I I8 T Arearam ©A?
15. foR Sicemd BUTd &% Ja1 T fors I2 37 X © ot H3SH I?
16. TEH 3 A IT IJ?

17. foi fog T2 @ HASES 39a 9 ©A?

18. I8 T TTH € II1H TH?

19. figor & 338 fagz AR |5t A<t I7

20. TUH AN 93 TE @3 IR © Quade @ aTH ©H?

21, y33 It I= IJ?

22. gEI3I Y39 &9 fagdmr-faadmr gowes< wiis J faR T Towcs< T &'H TH?
23. THH 3 A ITI?

. yg A I A FEI?

25. fauzr It e 32

26. Ao I ITEFRN

27. ICT & ygr &H f&3|

28. gEar (ﬁ;‘iﬁ) (Verbal Communication) Ao I F=J ?



29.
30.
31.
32.
33.
34.
35.
36.
37.
38.
39.

40.

Ho'g Yfdfanr @ fdg3 33 (elements of a communication cycle) I&, ™ 83|
CIER-Cicic N
=& (A ) (Verbal Communication) Hod ©f 3¢t i @egds fe€ 2
1394 it It S HII3= B ?
3™ (Stress) T I?
Flél;[El'Q'c'i (Self-management) Ifaged|
3IEN 1{8’&3 (Stress management) 3JS! fas Hee dIer 3
3 2 fosye f3edn e o 3|
Jer & wrigeye faedn & a1 59|
dflgeg Ig3-2wd (Hardware) 3 I = J|
YA Hod garec fagdit I Aeemit 96 ddt & R

wed (ENTER) Sl © aH ot 7

PART F

Yne T @39 fEa At S wfes fg f&ar A {Traviar TY Yrs €39}

1) fHoE @ gefest €q1 faa3 9572

2) W fioe @ &9 €A7

3) Bu-A3fg o © 83 W3 & ©H?
L) g HS T fHod 913 €7

5) fHog ers & fied g9 €A7

6) STl T feRm3TeT TH?

7) BTN T TSI YIe TH?

8) BTler T TIINIIS aI?

9) ElS § g IIG T I TH?

10) USTHICE HBT © &' TH?

1) AR die deds 3 &t I I?

12) W39 BBH 91 © B 3 fau3as TH?
13) dicaAd B 293 I AR Arearamr ©H?
L) TEHS T B W3 TEIIS Y€ TH?
15) dieT € JTEH S HASIES I TH?
16) AEHMT S 3FH W3 ASH ©H?

17) < 936 © ©d1 §'9 Aredat feg?




18) TTE JI& TV He' & Hol 5TE?

19) 24-2 AEAMT T TEE T AHT €7

20) AEHMT T Y- BT &8 Ol I96 T 31 TH?

21) "33 M faAH™ 79 Arearat fie@?

22) eard Tereh fagt Idfomir &8 A3 37s ST T©H8 I AR I&6 7

23) 831 TN © 3™ Yt u3fanr 573 Hreardt fe@?

2L) forst &% AEU3 Y39 979 reard! 'eg?

25) fod TgH <9 =TI HE T8 AregrsT 919 Areardt fe@?

26) dfugeg Aee-and (Software) 3 I = J|

27) Sf-993 EMif I8 @ 26 di (Function Keys) © &™H EH|

28) fan fes & anft 936 B8 fggdt Agcdc IH'S (shortcut command) T TI3 i3t A J|
29) fan Tfes & OAC 99% B fagdt Adese aH'3 (shortcut command) € €33 A3 AT J|
30) &3 T8s B fgoz oHs naAcHS ger J ?

31) dfugeg Areceand Tl wiegd! Aedl faR ST Al I 72

32) fear@ (AfEg) fe™H (Sustainable Development) 32

33) Afgg feaA R HIZ3T I Ie I ?

34) 1%3('@1"23('?[ (Sustainable Development) ﬁgwﬁgﬁwééwﬁwﬁee‘m

35) Sfugca < 2HFs 3@ Agdt J|

36) €€H3" (Entrepreneurship) 3t J ?

37) €TH3" (Entrepreneurship) & 3t 3Har I
38) HU'd € HJI3TYI& nidl (Communication Parts) fdI3 I& ?

39) gIa HY'd © A (Disadvantages of Verbal Communication) 3t I& ?

40) IS (Hfed) Ho'd age AN fagd fagdh 3t T fimires Juer ordier 3, agr e fsu 2






